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Spiral Galaxies 2+4+6+10 points

» Divide the grid into 180 degree symmetrical regions along the gridlines, so that each cell is part of only one
region.

» Each region must contain exactly one circle, which represents the central symmetry point of the region. All
circles are given.

» All cells must be part of a region.

Answer Key: For each marked row/column, write the number of cells that belong to different regions - from left to right / top to
bottom.

Spiral Galaxies - 1 (2 points) Spiral Galaxies — 2 (4 points)
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Fillomino 2+ 2+5+5points
» Divide the grid into different regions along the gridlines.

» No two regions of the same size (number of cells in the region) can touch each other by a side.

» Numbers in the grid indicate that the cell is part of a region of that size (number of cells in the region).

» A region can contain more than one given number.

» There can be regions without any given numbers also.

Answer Key: For each marked row/column, write the number of cells that belong to different regions - from left to right / top to
bottom.

Fillomino - 1 (2 points) Fillomino - 2 (2 points)
v v____
888 8 884 3 3[1414:1414/14
8 82 2[1]4 4 s|3[7 7[5 5|14
6 6|a 4 4[3]a (5 5[s8]7]|5 5|14
Ple[7 7 7]a]3 3 6|s[s]|7[1]5|14
6]9i9]|7:7 7 7 Ple|s|s|7 7 7|4
6[s|o9i9i9i99 68 8i8 8 8|4
6|55 5 5]9i9 66 614141414
Fillomino - 3 (5 points) Fillomino - 4 (5 points)
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Area Division 1+1+4+ 8 points

» Divide the grid into several regions along the gridlines.
» Each region has ALL the letters of the given range exactly once.
» Each letter must be part of exactly one region.

Answer Key: For each marked row/column, write the number of cells that belong to different regions - from left to right / top to
bottom.

Area Division - 1 (1 point) Area Division - 2 (1 point)
j .v. . v.

c AlciaiB]c c AlalBiA]A

clolo[aic]p clelsic]c|c

B|B[p B[a B AB[B A C|B

plaleia clals P{afs c afa s

plpo[B]B D|A Bic[c B[B]C

piAc|lc[pic B A Clalaic
(Range: ABCD) (Range: ABC)

Area Division - 3 (4 points) Area Division — 4 (8 points)

N ! -v | ] ] ] | v. | j
E[FiG E[F E[E F[F FIGE|EGFIEIFHG
F G|F[F]e[F]c[F]|G H[HIE FiGg|H|[F H[H E

PlF E|lc|lciE|EiG|E|E G F[F H E[E H|E G]|F
G[Flele F EJE]G[E P H[c H[F]lc|c F[F 6|c
Fleielc Flg F[F|F e|F[H|c EiH]E H[FIH
elc e Flef6]|E GG GlE|eE[c H E F]E G[E
Gl E F[FiE|[E G|E PlF H|F 6] EH F[H]H
E G Flcgi F[G|F[E]F E[H]F cin[c|lc FiE|G
E F GleE[eF[FiG|G E FlGg H|E|[F EIH]E|F

Range: £FG) G|[F E[eEHi G F]GiFIH
(Range: EFGH)
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Shikaku 1+1+ 3+ 10 points

» Divide the grid into a number of non-overlapping rectangles, including squares, along the grid lines.
» Numbers in the grid indicate the size (number of cells) of the rectangle they are in.
» Each rectangle must contain exactly one given number.

Answer Key: For each marked row/column, write the number of cells that belong to different regions - from left to right / top to
bottom.

Shikaku - 1 (1 point) Shikaku - 2 (1 point)

6 21 | 21 |
a1 211 | L I ENE.
- i5i 31 L s | 4
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2 5 | 3 51 |
4 2 2| Pl 4 21
"""""" 2 7 5 3

. . Shikaku - 4 (10 points)
Shikaku - 3 (3 points)
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No-Rectangles Fillomino 7 points

» Apply rules of Fillomino.
» However, none of the regions can form a rectangle.

Answer Key: For each marked row/column, write the number of cells that belong to different regions - from left to right / top to
bottom.

No-Rectangles Fillomino (7 points)
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Spiral Galaxies 4/5 14 points

» Divide the grid into several regions along the gridlines such that each region has exactly 4 or 5 cells.
» Each region must be 180 degree symmetrical.

» If aregion contains a black circle, then it is the point of symmetry.

» Regions may not be 2x2 squares.

Answer Key: For each marked row/column, write the number of cells that belong to different regions from left to right / top to
bottom. Ignore the black cells for the answer key.

Spiral Galaxies 4/5 (14 points)
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End of Test



